pynamc Sowwmone oF FLUID ggy (O

s ———————

(1) ContinvrTy Eqn
9 D (o
:Dze + V. (?U
(2) MOMEN’I‘UM E(QN
0-90) = -vp

(%) £QN. of <TATE

P={ ()

G

STEADY STATE D YNAMIC
SOLUTIDN € SOLUTIONG very
v all
— -
-9 =
T ((o\ﬂé;c " ““‘D u=-0 +u ‘\) Gt
. FEATE perhuriatio
o= ~
P p e Uy,
0z f :lodh P = 0,49,
: : h €< Fo ? < ?0
Ug.vrg d\,u\awuc <olukome ' '/,_J

(09 ’a"(\po*@ + 7V '[(Po'rﬂ) (I::) =0 (PW“ o efenes
0

al  LINE Aﬂluﬂb;‘?

o — —
=) 2 D—ra{P + V'((OL?'> *V'%u) F

¥

AN £
tudl  gweall NOTE:
//_——/ Tu/i"“" 1)(("‘ o
’a{ 'l.’ a?"“
el e oamoN




"

o EO[2E W) - P
0 (Lingarl zamion )
T 7% - _ L =
RO Sy

SMALL MALL
SNALL

339 p=pK)

imate
He ovder me‘wbah‘on in precquve 0%,

e kS

F :

Now, lets vewnte Hae Combnuihy  qn. U-A>
D€| ——?. -’,> :O
— tV ((oul
ot

- )
e T

-———

=) ?%%_ J, - @1 (1-8)




Lgr’e  START COMBINING ©,

(19, A, nd (3.1

F1RGT;
Mutkply  (1-B) wiH Ej_"
f1f,
gb o + ab P ‘_7)"])1 =0
Walo ¢ dg ’ﬁ, °
D el o | o
“7' 7 d | + P (;l_z ‘7’ u/ s
e 0+ ], P
EQN. OF STATE -
. 9 0\'9 «7.—6 _ @
o gne b, 700
R

Now, LE1% INTROPUCE VELOUTY POTENTIAL

- ——
- VELOUTY POTENTIAL
U = [Jy—7 Ve for

e AlOW V¢ TO 16RORE  TTHE R OTATIONAL
OR  <MEARED VEWUTY VARIATWON .

= -
VxU = px 7y =0




LETC VSE THE VELCITY poTENTIAL /N &
MOMENTUM EQN. (2.A)

f, 2
© 3+ )fo 34 - '\YP(
- Allowe ug o
I — diout
_ Y Yempve 9T
) [?! ]00 _b—?} N botty Sides
Lett Take  Time ngwmvrs_)
2 [ W
/ thi=-f 55
mopiprgy E6N-0F mﬁED
Kcowuvm’ﬂ? @
—a - 0y
= — Po d¢ \ v-u o= ’]DD 21
) e,
_ dr | . =
=) ?D DP’ - ?o C‘f 0 vV VWD O

_

- Bv d o= \“5
\) @,i~g?|fV‘l’ o O

2L é

|




&

THE vapismoN OF THE pREGGURE  CAB BE
DEEINED A |
l = (g . Where C = ¢ound
0\6 fo Syaéa\
db
) G = a'"
C§ f f«

NOW, Lete  Revierr €,

NATORAL  ChorCE POR NCUTRAL QACEC 14 ADIABETIC

‘E&“ OF STATE | ..  flp % /S;ngkr Mrowrv  Hae ﬁm’* 5?7&&
Y ! K
= b (£ b
d <ﬁ){ s n
cb _ ! ?
Tl ﬁe"" :m" §> ?







\ %Vf VY :O\J

V

Cmbe  slved TaKing Tourie Mmgﬁmwh\m
Ok Wainsy blanay wave solukion |

e
0 =) '
mc NP QxVEl(w*’KV‘)] |
@—ty— - —{w\{/ (DT‘I/ gl —f&D--iw\-\)
04 Y
vy = XY Py s iy

= =K \‘/
Now, put dheee back_ wip e wave eqn.

—wWY MY F0

\ :> L = CgWKV % L\V 71 D>

MepEROIDN  RELATION D (= 6 %

dow wot

:--—w——: ng\“»
K

dw
dK_
NON 01(PERGIVE

MEpIVM




